12)mRpEE A B EEREN

(B A)

XA ?xm 5 Hi
EIREX 1,531 1,705 3,236
- EREX 1,444 1,456 2,900
KBE EIRER 913 961 1874
INET 3,888 4,122 8,010
EAREX 1,087 1,099 2,186
gn EHIREX 337 317 654
= EOIREX 1,005 952 1,957
INET 2,429 2,368 4,797
BEIREX 909 939 1,848
T R FRER 317 310 627
INET 1,226 1,249 2,475
KIEH FIRER 632 651 1,283
9’110Txm 545 538 1,083
FNHRER 445 462 907
= = EHRER 488 522 1,010
F13RER 356 378 734
INET 1,834 1,900 3,734
] FIMEFER 782 823 1,605
FEI5HRER 511 537 1,048
X &% F16RER 695 708 1,403
INET 1,206 1,245 2,451
FITHRER 361 358 719
kR F FIBRER 518 516 1,034
INET 879 874 1,753
F19HRER 702 708 1,410
A=F & FE0HRER 894 838 1,732
INET 1,596 1,546 3,142
FUHHRER 388 379 767
e F22HRERX 709 655 1,364
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FHRER 422 415 837
INET 1,519 1,449 2,968
FEURER 1,050 1,078 2,128
F2HRERX 306 323 629
& F FE2IRERX 965 941 1,906
F2THRER 715 735 1,450
INGT 3,036 3,077 6,113
£ H FHRER 1,077 1,048 2,125
S F2HRERX 831 877 1,708
FEIHRER 656 671 1,327
E %31?93%5 1,040 996 2,036
FERRER 675 658 1,333
INET 2,371 2,325 4,696
FEIWER 666 643 1,309
FEMTRER 514 449 963
R A EIHHRER 592 569 1,161
FEIHRER 236 305 541
INET 2,008 1,966 3974
i 25,314 25,520 50,834
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